
Modified date 03/2021

Modified date 12/2021BE Bucket Elevator Gearbox

www.tge.cz





BE Bucket Elevator Gearbox





1   Type Designation

2   Mounting mode

3   Selection

4   Auxiliary transmission gear motor parameter correspondence table

5   Key to symbols

6   Selec�on to example

7   Transmission capacity table

8   Rated thermal capacity (kW)

9   Outline dimension

10 Suggested output connection dimensions

11  Dimension of parallel key and keyway

12  Screw hole in shaft end

13  Lubrication specification

2

3

 4

6

 8

9

 10

  18

24

32

34

35

35

1/BE



2/BE

BE

1  Type Designa�on

2-stage/3-stage/4-stage

Series

Number  of   Gear Stage

 B 3 12 H S B - - C50 + UF21

Nominal Ra�o Code

CW

Rota�on direc�on of output sha�

Accessories and Specific Configura�on

Size

Moun�ng mode
H=Hori

4-18

zontal moun�ng
V=Ver�cal moun�ng

Output Sha� Mode
K=Hollow shaft with involute spline
S=Solid shaft with parallel key
H=Hollow shaft with parallel key
D= Hollow shaft with shrink disc

Sha� Assembly Code
A

CW/CCW

/B/C/D/E/F/G/H/I



3/BE

PWBE

2  Moun�ng mode

BE3..HS BE3..HH BE3..HD

BE3..H
(iN 16~90)

Horizontal mounting

BE3..D
(iN 16~90)

BE4..H
(iN 100~400)

BE4..D
(iN 100~400)

BE3..DS BE3..DH BE3..DD

BE4..HS BE4..HH BE4..HD

BE4..DS BE4..DH BE4..DD



4/BE

BE 

3  Selec�on

2 f2
1.0

1.25

1.5

Prime mover factor

Motor, hydraulic motor, turbine

4-6 Cylinder piston engine, cyclic varia�on 1:100 to 1: 00

1-3 Cylinder piston engine, cyclic varia�on 1:100

f2

f1 Refer to page5 f1 table

1) If the following conditions are met, the gearbox does not
have an auxiliary cooling device

 P1≤PGA×f4×f8

2) If the following conditions are met, the gearbox with
a cooling fan can meet the requirements,

   P1≤PGB×f4×f8

P1N≥TA· n1· f3/9550 TA

f3
Load peaks per hour

1-5 6-30 31-100 > 100

0.5 0.65 0.7 0.75

1.10 1.250.7 0.95Alternate loading

Single direction loading

Determination of ratio

η 2-stage:96%，3-stage:94%，4-stage:92%
Transmission efficiency 
of gear unit 

i i=n1/n2

Confirm gear unit input
power with torque or
power needed by driven
equipment.

According to calculation,
check transmission
capacity table to
determine gear unit size.

P1

T2N, P1N T2N ≥T2·f1·f2·SF or P1N≥P1·f1·f2·SF
If it doesn't satisfy conditions:3.33·P1≥P1N ，Please consult us.

Confirm the output form Output shaft form and installation position

* Peak torque: maximum loading torque means the maximum torque caused by star�ng, braking or maximum pulse loading.
(Under common working condi�ons, peak torque is the maximum torque may occur when a machine starts or brakes)

SF

10

9

3

4

7

8

Lubrication methods for selection:
1) Splash lubrication
2) Forced lubrication
Shaft end pump lubrication
Motor oil pump lubrication
Oil station lubrication

P1=T2 · n1/(9550 · i ·η)  or   P1=P2/η

Input speed n1 ≤1800r/min For higher speed, please consult us.

Peak torque verification *

Driven equipment factor

Prime mover factor

 Gear unit safety factor

Determine cooling method

Confirm cooling method

Refer to page 5 SF table

Horizontal mounting

11

12

Serial Definition Symbol Parameter calculation

1

5

6



5/BE

BE

Ambient temperature coefficient f4

Without auxiliary cooling device or only with cooling fan

Hourly duty cycle (ED) percentage %
Ambient temperature

100  80 60 40 20

10°C 1.11 1.31 1.60 2.14 3.64

20°C 1.00 1.18 1.44 1.93 3.28

30°C 0.88 1.04 1.27 1.70 2.89

40°C 0.75 0.89 1.08 1.45 2.46

50°C 0.63 0.74 0.91 1.22 2.07

f1

> 10 > 10
1.5

1.8

1.3

1.4

1.5

1.8

1.5

1.4

1.6
1.2

1.3

1.2

1.5

1.2

> 0.5-10 > 0.5-10

Driven equipment factor

Daily load running time (hour/day) Daily load running time (hour/day)
Driven device Driven device

Bucket elevator

≤150KW

≥150KW

Scraper conveyor

Screw conveyor

Winch

Hoist

1.0

1.1

1.4

≤0.5 ≤0.5
/ /

/

/

Important equipment, the production
line or the whole plant after the gearbox
fails Work stoppage, the loss of stoppage
accident is relatively large.

High reliability requirements. After the gearbox 
fails, it may cause major production shutdown 
accidents, causing great economic losses, and 
personal life accidents

1.0≤SF≤1.3 1.3<SF≤1.5 1.5<SF

SF

Gearbox oil supply coefficient

1.0

Forced lubrication 1.05

f 8

Splash lubrication

Belt conveyors

And it is easier to replace parts,
and the loss is relatively small.

Gearbox reliability factor

tr ·100%+
�Note: Opera�ng cycle ED：ED= � (�: Working �me with loading;   tr: Stop �me .)



6/BE

BE

4  Auxiliary transmission gear motor parameter
    correspondence table

Model Gear
motor

Nominal
reduction
ratio

Actual
reduction
ratio

Motor
power
(kW) 

Main drive
reduction ratio

Output speed
n3(r/min)  

Rated output
torque
T3(kN.m)

16-25 3.7 2.9

28-90 2.1 5.2

16-25 3.9 4.7

28-90 2.2 8.6

16-25 3.8 5.0

28-90 2.1 8.9

16-25 3.8 9.3

28-90 2.1 17.1

16-25 3.8 9.3

28-90 2.1 17.0

16-25 3.2 15.7

28-90 1.8 27.1

16-25 3.2 15.5

28-90 1.9 26.8

16-25 4.2 24.9

28-90 2.3 44.7

16-25 4.2 25.9

28-90 2.3 46.5

16-25 4.4 40.5

28-90 2.4 74.6

16-25 4.4 40.5

28-90 2.4 74.7

16-25 4.3 66.8

28-90 2.4 119.4

16-25 4.3 66.8

28-90 2.4 119.4

16-22.4 4.7 74.9

25-80 2.7 133.2

16-25 3.9 89.8

28-90 2.2 159.8

BE304H-318H

BE305 KE67 30.9 30.96 2.2

BE309 KE77 35.7 36.5 5.5

BE308 KE77 30.9 30.9 4

BE311

BE310 KE77 35.7 36.5 5.5

BE304 KE47 30.9 31.43 1.1

BE307 KE77 30.9 30.9 4

BE306 KE67 30.9 30.96 2.2

BE312 KE87 27.9 27.9 11

KE87 27.9 27.9 11

BE314 KE97 27.9 27.87 18.5

BE313 KE97 27.9 27.87 18.5

BE316 KE107 27.9 27.7 30

BE315 KE107 27.9 27.7 30

BE318 KE127 27.9 27.67 37

BE317 KE127 27.9 27.67 37



7/BE

BE100-112 2.6 4.9

125-400 1.5 8.6

100-112 2.5 5.1

125-400 1.4 8.9

100-112 2.0 9.3

125-400 1.1 16.2

100-112 2.1 9.0

125-400 1.2 16.0

100 3.4 13.8

112-400 1.8 25.7

100 3.4 13.6

112-400 1.8 25.7

100-112 1.8 25.1

125-400 1.0 45.5

100-112 1.8 25.2

125-400 1.0 45.5

100-112 1.8 50.3

125-400 1.1 87.2

100-112 1.8 50.3

125-400 1.1 87.2

100-112 1.9 66.7

125-400 1.1 119.5

100-112 1.9 66.6

125-400 1.1 119.4

90-100 2.1 73.9

112-355 1.2 132.5

100-112 1.8 85.4

125-400 1.0 152.9

BE417

BE418

BE411

BE412

BE413

BE414

BE415

BE416

BE405

BE406

BE407

BE408

BE409

BE410

KE87 14.3 14.1 18.5

KE7 7 14.3 14.4 11

KE7 7 14.3 14.4 11

14.3 14.42

KE87 14.3 14.1 18.5

KE87 14.3 14.1 15

KE87 14.3 14.1 15

5.5

KE67 14.3 14.42 5.5

8.1 8.14 5.5

KE 67 8.1 8.14 5.5

KE 47 12.5 12.42 2.2

KE 47 12.5 12.42 2.2

KE37 9.8 9.93 1.5

KE37 9.8 9.93 1.5

KE 67

KE 67

Model Gear
motor

Nominal
reduction
ratio

Actual
reduction
ratio

Motor
power
(kW) 

Main drive
reduction ratio

Output speed
n3(r/min)  

Rated output
torque
T3(kN.m)

BE405H-418H



8/BE

BE

5  Key to symbols

Symbols Instrucion Unit

N·m

kW

r/min

PGB     

SF

i 

iN 

iex

P1N 

P1

TA 

T2n

P2 

PGA  

T3

n1

n2

f4 

f1 

f2 

f3

n2N

Pm 

n3

f8

Rated heat capacity of gearbox with cooling fan

Gearbox reliability factor

Actual ratio

Nominal ratio

Exact ratio

Rated output torque

Peak torque

Rated output torque of auxiliary drive

Gearbox rated input power

Rated heat capacity of gearbox without cooling device

Input power

Power used by the driven equipment

Motor power

 Driven equipment factor

Prime mover coefficient

P   eak load factor

Ambient temperature coefficient

Gearbox oil supply coefficient

Input speed

Nominal output speed

Output speed

Output sha� speed when auxiliary transmission gear motor is running

Code Speed code



9/BE

BE

6 Selec�on to example

3.Peak torque verfication：

4.Verify thermal capacity：

5.Determine gear unit typ：BE312HDB-C50 -CW+UF21

1. Calculation of ratio

2. Determine rated power of gear box：

   P1N≥TA·n1·f3/9550 =1395×1450×0.5/9550=105.9kW

   P1N=234kW≥105.9kW (fulfil requirments)

PGA·f4 ·f8=115×0.75×1=86.3kW≤100kW (Thermal capacity not sufficient)

PGB·f4·f8=281×0.75×1=210.8kW≥100kW (Thermal capacity is sufficient)

When gear unit with cooling fan, thermal capacity is sufficient.

   i=n1/n2=1450/29=50   iN=50  

P1N≥P1·f1·f2·SF=106.4×1.5×1×1.4=223.4kW

P1=P2/η=100/(94%)=106.4kW

According to the transmission capacity table, the seat number 12 can be found

Known conditions:

Prime mover:

Type: Belt conveyor

Gearbox:  

Motor power: 132kW   

Motor speed: 1450r/min

Maximum starting torque: TA=860N.m

Speed：n2=29r/min

  Required power：P2=100kW     
Duty: 12 hours/day
Operating cycle per hour: 100%
Ambient temperature：40°C          

BE series gearbox
Sha� arrangment form：B
Output sha�: Hollow output sha� with shrink disk connec�on
Output sha� rota�on direc�on: CW (clockwise rota�on facing the output sha�)

Selection procedure

Driven equipment (working machine):



10/BE

BE

7  Transmission capacity table

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

1740 109 74 120 137 226
1450 90.6 62 100 114 188
1150 71.9 49.2 79 90 149
960 60.0 41.0 66 75 124

1740 96.7 67 114 126 212
1450 80.6 56 95 105 177
1150 63.9 44.4 75 83 140
960 53.3 37.1 63 70 117

1740 87.0 60 106 120 197
1450 72.5 50 88 100 164
1150 57.5 39.7 70 79 130
960 48.0 33.1 58 66 109

1740 77.7 54 94 115 176
1450 64.7 45.0 78 96 147
1150 51.3 35.7 62 76 117
960 42.9 29.8 52 64 97

1740 69.6 49.2 84 113 157
1450 58.0 41.0 70 94 131
1150 46.0 32.5 56 75 104
960 38.4 27.1 46.3 62 87

1740 62.1 43.2 76 101 142
1450 51.8 36.0 63 84 118
1150 41.1 28.6 50 67 94
960 34.3 23.8 41.7 56 78

1740 55.2 38.4 67 89 126
1450 46.0 32.0 56 74 105
1150 36.5 25.4 44.4 59 83
960 30.5 21.2 37.1 49.0 70

1740 49.0 33.6 59 79 110
1450 40.8 28.0 49.0 66 92
1150 32.4 22.2 38.9 52 73
960 27.0 18.5 32.4 43.7 61

1740 43.5 30.0 53 71 100
1450 36.3 25.0 44.0 59 83
1150 28.8 19.8 34.9 46.8 66
960 24.0 16.6 29.1 39.1 55

1740 38.7 26.4 46.8 61 86
1450 32.2 22.0 39.0 51 72
1150 25.6 17.4 30.9 40.4 57
960 21.3 14.6 25.8 33.8 47.7

1740 34.8 24.0 42.0 55 79
1450 29.0 20.0 35.0 46.0 66
1150 23.0 15.9 27.8 36.5 52
960 19.2 13.2 23.2 30.5 43.7

1740 31.1 21.6 37.2 50 71
1450 25.9 18.0 31.0 42.0 59
1150 20.5 14.3 24.6 33.3 46.8
960 17.1 11.9 20.5 27.8 39.1

1740 27.6 19.2 32.4 44.4 61
1450 23.0 16.0 27.0 37.0 51
1150 18.3 12.7 21.4 29.3 40.4
960 15.2 10.6 17.9 24.5 33.8

1740 24.5 16.8 28.8 39.6 50
1450 20.4 14.0 24.0 33.0 42.0
1150 16.2 11.1 19.0 26.2 33.3
960 13.5 9.3 15.9 21.8 27.8

1740 21.8 14.9 25.2 34.8 44.7
1450 18.1 12.0 21.0 29.0 37.0
1150 14.4 9.9 16.7 23.0 29.6
960 12.0 8.2 13.9 19.2 24.7

1740 19.3 13.3 22.8 31.2 39.8
1450 16.1 11.0 19.0 26.0 33.0
1150 12.8 8.8 15.1 20.6 26.3
960 10.7 7.3 12.6 17.2 21.9

68.7

6.7 78.8

6.7 85.8

6.7 44.3

6.7 48.7

6.7 56.2

27.7

6.7 31.2

6.7 33.2

6.7 17.6

6.7 18.7

6.7 22.0

BE304

6.7 15.6

BE307

C90 90 11.6 82.3 15.5 84.4 20.0 87.8

20.0 80.5C80 80 11.6 75.5 15.5 77.5

C71 71 11.6 65.8 15.5 67.5 20.0 70.2

21.7 62.3C63 63 11.6 58.4 15.5 59.96.7 60.9

6.7

C56 56 11.6 53.9 15.5 55.3 21.7 57.5

21.7 49.8C50 50 11.6 46.7 15.5 47.9

C45 45 11.6 42.5 15.5 43.6 21.7 45.3

21.7 40.0C40 40 11.6 37.5 15.5 38.46.7 39.1

C36 35.5 11.6 31.8 15.5 32.7 21.7 37.0

21.7 31.9C32 31.5 11.6 29.9 15.5 30.7

C28 28 11.6 26.5 15.5 27.2 21.7 28.3

21.7 24.8C25 25 11.6 23.9 15.5 24.56.7 24.9

6.7

C16 16 10.5 14.9 12 15.3

C20 20 11.6 17.9 13.2 18.4

C22 22.4 11.6 21.1 14.2 21.6 21.7 21.9

21.7 20.2

Code iN
n1

（r/min）

n2N

（r/min）

BE305 BE306

C18 18 11.6 16.8 12.6 17.3 21.7 17.5

20.0 15.5

BE304-312(iN=16-90)



11/BE

BE

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

T2N
(kN·m)

iex P 1N
(kW)

245 354 406 683 756
204 295 338 569 630
162 234 268 451 500
135 195 224 377 417
232 341 377 624 701
193 284 314 520 584
153 225 249 412 463
128 188 208 344 387
227 325 358 577 661
189 271 298 481 551
150 215 236 381 437
125 179 197 318 365
215 290 340 516 614
179 242 283 430 512
142 192 224 341 406
119 160 187 285 339
197 260 319 462 563
164 217 266 385 469
130 172 211 305 372
109 144 176 255 311
178 233 287 416 505
148 194 239 347 421
117 154 190 275 334
98 128 158 230 279

157 208 256 370 450
131 173 213 308 375
104 137 169 244 297
87 115 141 204 248

138 182 223 324 394
115 152 186 270 328
91 121 148 214 260
76 101 123 179 217

125 164 202 293 356
104 137 168 244 297
82 109 133 194 236
69 91 111 162 197

108 143 175 254 308
90 119 146 212 257
71 94 116 168 204
60 79 97 140 170
98 130 158 230 281
82 108 132 192 234
65 86 105 152 186
54 72 87 127 155
88 116 143 208 253
73 97 119 173 211
58 77 94 137 167

48.3 64 79 115 140
79 103 127 185 226
66 86 106 154 188
52 68 84 122 149

43.7 57 70 102 124
68 86 112 152 196
57 72 93 127 163

45.2 57 74 101 129
37.7 47.7 62 84 108
60 77 100 135 175
50 64 83 113 146

39.7 51 66 89 116
33.1 42.3 55 75 97
52 68 88 120 152

43.0 57 73 100 127
34. 1 45.0 58 79 101
28.5 37.6 48.3 66 84

60 78 89.725.2 86.6 34.0 84.0 43.8 82.9

60 71.7 78 71.827.2 69.3 34.0 67.2 43.8 66.3

43.8 76.1 60 82.2 78 82.327.2 79.5 34.0 77.0

89.6

58.8 64 63.6 78 63.743.827.2 61.5 35.7 59.6

43.8 47.1 64 50.9 78 51.027.2 49.2 35.7 47.7

64

78 46.327.2 44.7 35.7 43.3 43.8 42.8

58.7 78 58.827.2 56.7 35.7 55.0 43.8 54.3

37.8 64 40.8 78 40.943.827.2 39.4 35.7 38.2

64 46.3

43.8 30.1 64 32.6 78 32.627.2 31.5 35.7 30.5

64

28.9 78 29.027.2 27.9 35.7 27.1 43.8 26.7

37.7 78 37.827.2 36.5 35.7 35.4 43.8 34.9

24.7 64 24.7 78 24.743.827.2 24.4 35.7 25.0

64

17.4 70 17.423.1 17.2 34.0 17.6 37.5 17.4

21.8. 78 21.827.2 21.6 35.7 22.1 43.8 21.8

39.3 20.1 64 20.1 73 20.225.0 19.9

21.5 15.3 31.0 15.6

64

62

35.7 20.4

BE308 BE309 BE310 BE311 BE312

15.4 60 15.4 67 15.535.6



12/BE

BE

BE313-318(iN=16-90)

(kN·m)
iex P1N P1N

(kW)
T2NT2N

(kN·m)
T2N

(kN·m)
iex iex

(kW)
P1N
(kW)

1740 108.8 1113 1369 1767*
1450 90.6 927 1141 1473
1150 71.9 736 905 1168
960 60.0 614 755 975

1740 96.7 987 1214 1568*
1450 80.6 823 1012 1306
1150 63.9 653 802 1036
960 53.3 545 670 865

1740 87.0 853 1114 1400*
1450 72.5 711 928 1166
1150 57.5 564 736 925
960 48.0 470 615 772

1740 77.7 788 1030 1294*
1450 64.7 657 858 1078
1150 51.3 521 681 855
960 42.9 435 568 714

1740 69.6 696 955 1142*
1450 58.0 580 796 951
1150 46.0 460 631

527
755

960 38.4 384 630
1740 62.1 604 829 1022*
1450 51.8 503 691 852
1150 41.1 399 548 675
960 34.3 333 457 564

1740 55.2 536 735 907*
1450 46.0 446 613 755
1150 36.5 354 486 599
960 30.5 295 406 500

1740 49.0 463 635 783*
1450 40.8 385 529 652
1150 32.4 306 420 517
960 27.0 255 350 432

1740 43.5 428 587 724*
1450 36.3 356 489 603
1150 28.8 283 388 478
960 24.0 236 324 399

1740 38.7 377 518 639*
1450 32.2 314 432 532
1150 25.6 249 342 422
960 21.3 208 286 352

1740 34.8 343 471 581
1450 29.0 286 392 484
1150 23.0 227 311 384
960 19.2 189 260 320

1740 31.1 297 408 503
1450 25.9 248 340 419
1150 20.5 196 270 333
960 17.1 164 225 278

1740 27.6 274 377 464
1450 23.0 229 314 387
1150 18.3 181 249 307
960 15.2 151 208 256

1740 24.5 243 334 412
1450 20.4 203 278 343
1150 16.2 161 221 272
960 13.5 134 184 227

1740 21.8 212 291 359
1450 18.1 177 243 299
1150 14.4 140 193 237
960 12.0 117 161 198

1740 19.3 195 267 330
1450 16.1 162 223 275
1150 12.8 129 177 218
960 10.7 107 147 182

Code i N n1
（r/min）

n2N
（r/min）

BE313 BE314 BE315

C16 16 91 14.898 112 14.909 148 15.260

C20 20 91 19.445 119 19.460 153 19.918

C18 18 91 16.794 112 16.806 148 17.202

C25 25 91 23.836 125 23.854 153 24.415

C22 22.4 91 21.032 119 21.048 153 21.543

C32 31.5 91 30.960 125 30.983 153 30.751

C28 28 91 27.465 125 27.485 153 27.279

C40 40 91 38.774 125 38.803 153 38.512

C36 35.5 91 35.849 125 35.876 153 35.607

C50 50 91 48.338 125 48.374 153 48.012

C45 45 91 43.944 125 43.976 153 43.647

C63 63 91 60.423 125 60.468 153 60.015

C56 56 91 55.775 125 55.816 153 55.398

C80 80 91 78.122 125 78.180 153 77.595

C71 71 91 68.113 125 68.164 153 67.653

C90 90 91 85.141 125 85.204 153 84.566



13/BE

BE



14/BE

BE



15/BE

BE



16/BE

BE

BE413

(           )(           )

BE414 BE415



17/BE

BE

BE416 BE417 BE418



8  Rated thermal capacity (kW)

BE

18/BE



BE

19/BE



20/BE

BE



21/BE

BE



22/BE

BE



23/BE

BE



24/BE

BE

9  Outline dimension
BE304H-318H (With auxiliary gearmotor)

BE3..HS    BE3..HH   BE3..HD
Rain cover Rain cover

Air
input Air

input

Output sha�

Moun�ng flange

Auxiliary gear motor
Fan assembly

Backstop

BE304H-312H BE313H-318H

Layout：B Layout：D

BE3..HS BE3..HH BE3..HS BE3..HH

BE3..HD BE3..HD

Note：The solid arrow of the output shaft indicates clockwise rotation facing the output shaft（CW）

The solid arrow of the output shaft indicates counterclockwise rotation facing the output shaft（CCW）

Output shaft

BE3..HS
Solid shaft

BE3..HH
Hollow shaft

BE3..HD
Hollow shaft with shrink disk

Safety mask

End plate

Safety mask
Circlip

End plate



25/BE

BEd1 L1 L3 d1 L1 L3
04 35k6 80 60 30k6 60 40 500 520 586 195 200 215 185
05 45k6 110 80 35k6 80 50 575 605 667 220 235 255 215
06 45k6 110 80 35k6 80 50 610 640 743 220 235 255 215
07 50k6 110 90 40k6 80 60 690 710 816 270 285 300 250
08 50k6 110 90 40k6 80 60 735 755 920 270 285 300 250
09 60m6 140 110 50k6 110 80 800 830 957 310 325 370 250
10 60m6 140 110 50k6 110 80 850 880 1062 310 325 370 250
11 75m6 140 110 60m6 140 110 960 990 1132 370 385 430 330
12 75m6 140 110 60m6 140 110 1035 1065 1292 370 385 430 330
13 85m6 170 135 70m6 140 105 1110 1145 1365 425 435 550 325
14 85m6 170 135 70m6 140 105 1180 1215 1505 425 435 550 325
15 95m6 170 135 75m6 140 105 1367 1402 1630 485 520 625 365
16 95m6 170 135 75m6 140 105 1413 1448 1720 485 520 625 365
17 115m6 210 175 90m6 170 135 1560 1595 1790 535 570 690 395
18 115m6 210 175 90m6 170 135 1620 1655 1910 535 570 690 395

A1

GearboxInput shaft

G1 G3 a A2 b B1

C d6 e3 E G7 G8 h H m1 m2 m3 n1 n2 S L4 L5 L6 L7 L8 D6
04 28 150 110 270 540 193 200 400 355 / 180 112 85 19 527 136 112 400 100 125
05 28 160 130 315 630 217 230 460 430 / 220 113 100 19 617 140 140 475 125 150
06 28 160 130 350 665 217 230 490 510 / 220 113 145 19 617 140 140 475 125 150
07 35 210 160 385 735 255 280 560 545 / 260 131 130 24 633 161 180 550 150 175
08 35 210 160 430 780 255 280 580 650 / 260 131 190 24 633 161 180 550 150 175
09 40 260 185 450 860 298 320 640 635 / 320 156 155 28 676 175 180 620 150 190
10 40 260 185 500 910 298 320 670 735 / 320 156 205 28 676 175 180 620 150 190
11 50 210 225 545 1025 355 380 760 775 / 370 178 180 35 822 213 212 720 175 230
12 50 210 225 615 1095 355 380 790 930 / 370 178 265 35 822 213 212 720 175 230
13 60 210 250 635 1165 426 440 875 1090 545 475 142 305 35 951 240 250 870 225 290
14 60 210 250 705 1235 426 440 940 1230 685 475 137 375 35 951 240 250 870 225 290
15 70 210 316 762 1420 472 500 1000 1310 655 535 160 365 42 1116 273 316 995 225 310
16 70 210 320 808 1470 472 500 1035 1400 745 535 160 410 42 1116 273 320 995 225 310
17 80 230 400 860 1650 497 550 1105 1470 735 600 160 390 42 1193 298 400 1105 275 310
18 80 230 400 920 1710 497 550 1110 1590 855 600 160 450 42 1193 298 400 1105 275 310

Gearbox

Output shaft Lubrication oil Weight
KE BE3..

d2 G2 L2 D G4 D2 D3 G5 G6 (L) (L)
04 80m6 140 170 80H7 140 85H7 85H7 205 140 2.2 9
05 100m6 165 210 95H7 165 100H7 100H7 240 165 3.9 14
06 110m6 165 210 105H7 165 110H7 110H7 240 165 3.9 15
07 120m6 195 210 115H7 195 120H7 120H7 280 195 7.4 25
08 130m6 195 250 125H7 195 130H7 130H7 285 195 7.4 28
09 140m6 235 250 135H7 235 140H7 140H7 330 235 7.7 40
10 160m6 235 300 150H7 235 150H7 150H7 350 235 7.7 42
11 170m6 270 300 165H7 270 165H7 165H7 400 270 13.7 66
12 180m6 270 300 180H7 270 180H7 180H7 405 270 13.7 72
13 200m6 335 350 190H7 335 190H7 190H7 480 335 25 130
14 220m6 335 350 210H7 335 210H7 210H7 480 335 25 140
15 240m6 380 410 230H7 380 230H7 230H7 550 380 63 210
16 250m6 380 410 240H7 380 240H7 240H7 550 380 63 220
17 260m6 415 410 250H7 415 250H7 250H7 600 415 63 290

BE3..HHBE3..HS BE3..HD
(kg)

18 280m6 415 470 275H7 415 280H7 280H7 600 415 63 300

246
390
445
652
737

1020
1150
1658
1933
2762
3132
4488
4713
5802
6307

iN≤56(17)
iN≤63(04,05,06,07,08,
09,10,11,12,13,14,15,16,18)

iN≥63(17)
iN≥71(04,05,06,07,08,
09,10,11,12,13,14,15,16,18)

Size

Size

Size



26/BE

BE

Note：The solid arrow of the output shaft indicates clockwise rotation facing the output shaft（CW）

The solid arrow of the output shaft indicates counterclockwise rotation facing the output shaft（CCW）

BE304D-318D (Without auxiliary gearmotor)

BE3..DS BE3..DH BE3..DS BE3..DH

BE3..DD BE3..DD

BE304D-312D BE313D-318D

BE3..DS    BE3..DH   BE3..DD

BE3..DS BE3..DH BE3..DD

Air
input

Air
input

Output
sha�

Backstop

Fan
assembly

Layout：B Layout：D

Solid shaft Hollow shaft Hollow shaft with shrink disk

Output shaft

Safety mask Safety mask

Circlip

End plateEnd plate



27/BE

BEd1 L1 L3 d1 L1 L3
04 35k6 80 60 30k6 60 40 500 520 586 195 200 215 185
05 45k6 110 80 35k6 80 50 575 605 667 220 235 255 215
06 45k6 110 80 35k6 80 50 610 640 743 220 235 255 215
07 50k6 110 90 40k6 80 60 690 710 816 270 285 300 250
08 50k6 110 90 40k6 80 60 735 755 920 270 285 300 250
09 60m6 140 110 50k6 110 80 800 830 957 310 325 370 250
10 60m6 140 110 50k6 110 80 850 880 1062 310 325 370 250
11 75m6 140 110 60m6 140 110 960 990 1132 370 385 430 330
12 75m6 140 110 60m6 140 110 1035 1065 1292 370 385 430 330
13 85m6 170 135 70m6 140 105 1110 1145 1365 425 435 550 325
14 85m6 170 135 70m6 140 105 1180 1215 1505 425 435 550 325
15 95m6 170 135 75m6 140 105 1367 1402 1630 485 520 625 365
16 95m6 170 135 75m6 140 105 1413 1448 1720 485 520 625 365
17 115m6 210 175 90m6 170 135 1560 1595 1790 535 570 690 395
18 115m6 210 175 90m6 170 135 1620 1655 1910 535 570 690 395

G1 G3 a A1 A2 b B1

C d6 e3 E G7 G8 h H m1 m2 m3 n1 n2 S D6 G9 L9 d7
04 28 150 110 270 540 193 200 400 355 / 180 112 85 19 125 140 70 30h6
05 28 160 130 315 630 217 230 460 430 / 220 113 100 19 150 160 80 40h6
06 28 160 130 350 665 217 230 490 510 / 220 113 145 19 150 160 80 40h6
07 35 210 160 385 735 255 280 560 545 / 260 131 130 24 175 195 100 45h6
08 35 210 160 430 780 255 280 580 650 / 260 131 190 24 175 195 100 45h6
09 40 260 185 450 860 298 320 640 635 / 320 156 155 28 190 230 100 55h6
10 40 260 185 500 910 298 320 670 735 / 320 156 205 28 190 230 100 55h6
11 50 210 225 545 1025 355 380 760 775 / 370 178 180 35 230 270 135 65h6
12 50 210 225 615 1095 355 380 790 930 / 370 178 265 35 230 270 135 65h6
13 60 210 250 635 1165 426 440 875 545 545 475 142 305 35 290 330 155 80h6
14 60 210 250 705 1235 426 440 940 545 685 475 137 375 35 290 330 155 80h6
15 70 210 316 762 1420 472 500 1000 655 655 535 160 365 42 310 370 160 100h6
16 70 210 320 808 1470 472 500 1035 655 745 535 160 410 42 310 370 160 100h6
17 80 230 400 860 1650 497 550 1105 735 735 600 160 390 42 310 405 160 100h6
18 80 230 400 920 1710 497 550 1110 735 855 600 160 450 42 310 405 160 100h6

BE3..
d2 G2 L2 D G4 D2 D3 G5 G6 (L) (kg)

04 80m6 140 170 80H7 140 85H7 85H7 205 140 9 246
05 100m6 165 210 95H7 165 100H7 100H7 240 165 14 390
06 110m6 165 210 105H7 165 110H7 110H7 240 165 15 445
07 120m6 195 210 115H7 195 120H7 120H7 280 195 25 652
08 130m6 195 250 125H7 195 130H7 130H7 285 195 28 737
09 140m6 235 250 135H7 235 140H7 140H7 330 235 40 1020
10 160m6 235 300 150H7 235 150H7 150H7 350 235 42 1150
11 170m6 270 300 165H7 270 165H7 165H7 400 270 66 1658
12 180m6 270 300 180H7 270 180H7 180H7 405 270 72 1933
13 200m6 335 350 190H7 335 190H7 190H7 480 335 130 2762
14 220m6 335 350 210H7 335 210H7 210H7 480 335 140 3132
15 240m6 380 410 230H7 380 230H7 230H7 550 380 210 4488
16 250m6 380 410 240H7 380 240H7 240H7 550 380 220 4713
17 260m6 415 410 250H7 415 250H7 250H7 600 415 290 5802
18 280m6 415 470 275H7 415 280H7 280H7 600 415 300 6307

BE3..DS BE3..DH BE3..DD

GearboxInput shaft

Size

Gearbox

Output shaft Lubrication oil
Weight

iN≤56(17)
iN≤63(04,05,06,07,08,
09,10,11,12,13,14,15,16,18)

iN≥63(17)
iN≥71(04,05,06,07,08,
09,10,11,12,13,14,15,16,18)

Size

Size



28/BE

BE

BE405H-418H (With auxiliary gearmotor)

BE4..HS    BE4..HH   BE4..HD

BE405H-412H BE413H-418H

BE4..HS BE4..HH BE4..HS BE4..HH

BE4..HD BE4..HD

BE4..HS BE4..HH BE4..HD

Rain cover Rain cover 

Output sha�
Moun�ng flange

Backstop

Auxiliary gear motor

Layout：A Layout：C

Note：The solid arrow of the output shaft indicates clockwise rotation facing the output shaft（CW）

The solid arrow of the output shaft indicates counterclockwise rotation facing the output shaft（CCW）

Output shaft

Solid shaft Hollow shaft Hollow shaft with shrink disk

Safety mask Safety mask
Circlip

End plate End plate



29/BE

BE
d1 L1 d1 L1

05 35k6 80 25k6 50 615 713 255 28 90 405
06 35k6 80 25k6 50 650 793 255 28 90 440
07 35k6 80 30k6 60 725 876 300 35 110 495
08 35k6 80 30k6 60 770 981 300 35 110 540
09 45k6 110 35k6 80 840 1033 370 40 130 580
10 45k6 110 35k6 80 890 1131 370 40 130 630
11 50k6 110 40k6 80 1010 1227 430 50 160 705
12 50k6 110 40k6 80 1080 1382 430 50 160 775
13 60m6 140 50k6 110 1170 1470 550 60 207 820
14 60m6 140 50k6 110 1240 1610 550 60 207 890
15 75m6 140 60m6 140 1407 1760 625 70 250 987
16 75m6 140 60m6 140 1453 1850 625 70 250 1033
17 75m6 140 60m6 140 1455 1820 690 80 235 1035
18 75m6 140 60m6 140 1515 1940 690 80 235 1095

a b C e3 EG1

G8 h H m1 m2 m3 n1 n2 S L4 L5 L6 L7 L8 D6
05 210 230 460 480 / 220 113 100 19 507 80 100 395 80 95
06 210 230 490 560 / 220 113 145 19 507 80 100 395 80 95
07 240 280 560 605 / 260 131 130 24 604 100 112 460 100 125
08 240 280 580 710 / 260 131 190 24 604 100 112 460 100 125
09 270 320 640 710 / 320 156 155 28 659 143 140 530 125 125
10 270 320 670 810 / 320 156 205 28 659 143 140 530 125 125
11 315 380 760 870 / 370 178 180 35 659 128 140 565 125 150
12 315 380 790 1025 / 370 178 265 35 659 128 140 565 125 150
13 375 440 875 475 137 305 35 777 160 180 665 150 175
14 375 440 940 475 137 375 35 777 160 180 665 150 175
15 465 500 1000 535 161 365 42 866 200 212 820 175 230
16 465 500 1035 535 160 410 42 866 200 212 820 175 230
17 495 550 1105 600 160 390 42 942 190 212 840 175 230
18 495 550 1110

667.5
667.5
840
840
840
840

1195
1335
1440
1530
1500
1620 600 160 450 42 942 190 212 840 175 230

KE BE4..
d2 G2 L2 D G4 D2 D3 G5 G6 (L) (L) (kg)

05 100m6 165 210 95H7 165 100H7 100H7 240 165 1.5 16 354
06 110m6 165 210 105H7 165 110H7 110H7 240 165 1.5 18 433
07 120m6 195 210 115H7 195 120H7 120H7 280 195 2.2 30 601
08 130m6 195 250 125H7 195 130H7 130H7 285 195 2.2 33 705
09 140m6 235 250 135H7 235 140H7 140H7 330 235 3.9 48 963
10 160m6 235 300 150H7 235 150H7 150H7 350 235 3.9 50 1177
11 170m6 270 300 165H7 270 165H7 165H7 400 270 3.9 80 1558
12 180m6 270 300 180H7 270 180H7 180H7 405 270 3.9 90 1819
13 200m6 335 350 190H7 335 190H7 190H7 480 335 7.7 145 2526
14 220m6 335 350 210H7 335 210H7 210H7 480 335 7.7 150 3071
15 240m6 380 410 230H7 380 230H7 230H7 550 380 13.7 230 3940
16 250m6 380 410 240H7 380 240H7 240H7 550 380 13.7 235 4450
17 260m6 415 410 250H7 415 250H7 250H7 600 415 13.7 295 4945
18 280m6 415 470 275H7 415 280H7 280H7 600 415 13.7 305 5475

BE4.HS BE4.HH BE4.HD

GearboxInput shaft
iN≤250(09,10,17)
iN≤280(04,05,06,07,08,
11,12,13,14,15,16,18)

iN≥280(09,10,17)
iN≥315(04,05,06,07,08,
11,12,13,14,15,16,18)

Gearbox

Output shaft Lubrication oil
Weight

Size

Size

Size



30/BE

BE

BE405D-418D (Without auxiliary gearmotor)

BE4..DS    BE4..DH   BE4..DD

BE405D-412D BE413D-418D

BE4..DS BE4..DH BE4..DS BE4..DH

BE4..DD BE4..DD

BE4..DS BE4..DH BE4..DD

Output sha�

Backstop

Layout：A Layout：C

Note：The solid arrow of the output shaft indicates clockwise rotation facing the output shaft（CW）

The solid arrow of the output shaft indicates counterclockwise rotation facing the output shaft（CCW）

Output shaft

Solid shaft Hollow shaft Hollow shaft with shrink disk
Safety mask

Safety mask

Circlip

End plate
End plate



31/BE

BEd1 L1 d1 L1
05 35k6 80 25k6 50 615 713 255 28 90 405
06 35k6 80 25k6 50 650 793 255 28 90 440
07 35k6 80 30k6 60 725 876 300 35 110 495
08 35k6 80 30k6 60 770 981 300 35 110 540
09 45k6 110 35k6 80 840 1033 370 40 130 580
10 45k6 110 35k6 80 890 1131 370 40 130 630
11 50k6 110 40k6 80 1010 1227 430 50 160 705
12 50k6 110 40k6 80 1080 1382 430 50 160 775
13 60m6 140 50k6 110 1170 1470 550 60 207 820
14 60m6 140 50k6 110 1240 1610 550 60 207 890
15 75m6 140 60m6 140 1407 1760 625 70 250 987
16 75m6 140 60m6 140 1453 1850 625 70 250 1033
17 75m6 140 60m6 140 1455 1820 690 80 235 1035
18 75m6 140 60m6 140 1515 1940 690 80 235 1095

a b C e3 EG1

G8 h H m1 m2 m3 n1 n2 S G9 L9 d7 D6
05 210 230 460 480 / 220 113 100 19 170 60 25h6 95
06 210 230 490 560 / 220 113 145 19 170 60 25h6 95
07 240 280 560 605 / 260 131 130 24 200 70 30h6 125
08 240 280 580 710 / 260 131 190 24 200 70 30h6 125
09 270 320 640 710 / 320 156 155 28 235 65 40h6 125
10 270 320 670 810 / 320 156 205 28 235 65 40h6 125
11 315 380 760 870 / 370 178 180 35 255 80 40h6 150
12 315 380 790 1025 / 370 178 265 35 255 80 40h6 150
13 375 440 875 667.5 527.5 475 137 305 35 310 100 45h6 175
14 375 440 940 667.5 667.5 475 137 375 35 310 100 45h6 175
15 465 500 1000 840 600 535 161 365 42 365 135 65h6 230
16 465 500 1035 840 690 535 160 410 42 365 135 65h6 230
17 495 550 1105 840 660 600 160 390 42 385 135 65h6 230
18 495 550 1110 840 780 600 160 450 42 385 135 65h6 230

BE4..
d2 G2 L2 D G4 D2 D3 G5 G6 (L) (kg)

05 100m6 165 210 95H7 165 100H7 100H7 240 165 16 354
06 110m6 165 210 105H7 165 110H7 110H7 240 165 18 433
07 120m6 195 210 115H7 195 120H7 120H7 280 195 30 601
08 130m6 195 250 125H7 195 130H7 130H7 285 195 33 705
09 140m6 235 250 135H7 235 140H7 140H7 330 235 48 963
10 160m6 235 300 150H7 235 150H7 150H7 350 235 50 1177
11 170m6 270 300 165H7 270 165H7 165H7 400 270 80 1558
12 180m6 270 300 180H7 270 180H7 180H7 405 270 90 1819
13 200m6 335 350 190H7 335 190H7 190H7 480 335 145 2526
14 220m6 335 350 210H7 335 210H7 210H7 480 335 150 3071
15 240m6 380 410 230H7 380 230H7 230H7 550 380 230 3940
16 250m6 380 410 240H7 380 240H7 240H7 550 380 235 4450
17 260m6 415 410 250H7 415 250H7 250H7 600 415 295 4945
18 280m6 415 470 275H7 415 280H7 280H7 600 415 305 5475

BE4..DS BE4..DH BE4..DD

GearboxInput shaft

iN≤250(09,10,17)
iN≤280(04,05,06,07,08,
11,12,13,14,15,16,18)

iN≥280(09,10,17)
iN≥315(04,05,06,07,08,
11,12,13,14,15,16,18)

Gearbox

Output shaft Lubrication oil
Weight

Size

Size

Size



32/BE

BE

10  Suggested output connec�on dimensions:
10.1  Hollow sha� with parallel key connec�on:

Driven machine sha� for parallel key connec�on

Note:

Bolts

Protec�on cover

End plate
Output sha�

End plate

1.Material of driven equipment sha�:40Cr or steel with higher strength.
2.Sha� and parallel key of driven equipment are not within the scope of supply. Please order if required.
3.Protec�on cover, end plate and bolts are supplied with gearbox as standard.

G2 G2g

m s
t

L1

f1

c
L1

rmax15°

m

L

1.6

1.6

7

d d4 d5 f1 L L1 r s t c D8 D9 d7 m D G2 g

04 80h6 79.5 88 4 278 35 1.2 M10 18 10 11 22 100 60 M10x25 2 80H7 140 50

05 95h6 94.5 105 5 328 40 1.6 M10 18 10 11 26 120 70 M10x25 2 95H7 165 45

06 105h6 104.5 116 5 328 45 1.6 M10 18 10 11 26 120 70 M10x25 2 105H7 165 45

07 115h6 114.5 126 5 388 50 1.6 M12 20 12 13.5 26 140 80 M12x30 2 115H7 195 55

08 125h6 124.5 136 6 388 55 2.5 M12 20 12 13.5 26 150 85 M12x30 2 125H7 195 55

09 135h6 134.5 147 6 467 60 2.5 M12 20 12 13.5 33 160 90 M12x30 2 135H7 235 55

10 150h6 149.5 162 6 467 65 2.5 M12 20 12 13.5 33 185 110 M12x30 2 150H7 235 55

11 165h6 164.5 177 7 537 70 2.5 M16 28 15 17.5 33 195 120 M16x40 2 165H7 270 65

12 180h6 179.5 192 7 537 75 2.5 M16 28 15 17.5 33 220 130 M16x40 2 180H7 270 65

13 190h6 189.5 206 7 667 80 3 M16 28 18 17.5 33 230 140 M16x40 2 190H7 335 45

14 210h6 209.5 226 8 667 85 3 M16 28 18 17.5 33 250 160 M16x40 2 210H7 335 45

15 230h6 229.5 248 8 756 100 3 M20 38 25 22 39 270 180 M20x55 4 230H7 380 60

16 240h6 239.5 258 8 756 100 3 M20 38 25 22 39 280 180 M20x55 4 240H7 380 60

17 250h6 249.5 270 8 826 110 4 M20 38 25 22 39 300 190 M20x55 4 250H7 415 60

18 275h6 274.5 295 9 826 120 4 M20 38 25 22 39 330 210 M20x55 4 275H7 415 60

m s
t

L1

f1

c
L1

m

L

1.6

1.6

7

d d4 d5 f1 L L1 r s t c D8 D9 d7 m D G2 g

04 80h6 79.5 88 4 278 35 1.2 M10 18 10 11 22 100 60 M10x25 2 80H7 140 50

05 95h6 94.5 105 5 328 40 1.6 M10 18 10 11 26 120 70 M10x25 2 95H7 165 45

06 105h6 104.5 116 5 328 45 1.6 M10 18 10 11 26 120 70 M10x25 2 105H7 165 45

07 115h6 114.5 126 5 388 50 1.6 M12 20 12 13.5 26 140 80 M12x30 2 115H7 195 55

08 125h6 124.5 136 6 388 55 2.5 M12 20 12 13.5 26 150 85 M12x30 2 125H7 195 55

09 135h6 134.5 147 6 467 60 2.5 M12 20 12 13.5 33 160 90 M12x30 2 135H7 235 55

10 150h6 149.5 162 6 467 65 2.5 M12 20 12 13.5 33 185 110 M12x30 2 150H7 235 55

11 165h6 164.5 177 7 537 70 2.5 M16 28 15 17.5 33 195 120 M16x40 2 165H7 270 65

12 180h6 179.5 192 7 537 75 2.5 M16 28 15 17.5 33 220 130 M16x40 2 180H7 270 65

13 190h6 189.5 206 7 667 80 3 M16 28 18 17.5 33 230 140 M16x40 2 190H7 335 45

14 210h6 209.5 226 8 667 85 3 M16 28 18 17.5 33 250 160 M16x40 2 210H7 335 45

15 230h6 229.5 248 8 756 100 3 M20 38 25 22 39 270 180 M20x55 4 230H7 380 60

16 240h6 239.5 258 8 756 100 3 M20 38 25 22 39 280 180 M20x55 4 240H7 380 60

17 250h6 249.5 270 8 826 110 4 M20 38 25 22 39 300 190 M20x55 4 250H7 415 60

18 275h6 274.5 295 9 826 120 4 M20 38 25 22 39 330 210 M20x55 4 275H7 415 60

Size
End plate Bolt

Size Qty

Driven equipment sha� Hollow sha�



33/BE

BE

10.2  Hollow sha� for shrink discs

G2

g

H

W

X

L1 L1

f1

m

s

C2
 0

-0.2

rnax

G4

c1

30°

s1

L
15°1.6

1.6

d2 d3 d4 d5 f1 L L1 r c1 c2 d7 d8 D9 m s D2 D3 G2 G4 d d1 H W s1 D g

04 85g6 85h6 84.5 95 4 326 48 2 17 7 90 70 22 50 M8 2 90 85H7 85H7 140 205 SP2-110 110 185 49 15 M12 232 233

05 100g6 100h6 99.5 114 5 383 53 2 20 8 105 80 26 55 M10 2 105 100H7 100H7 165 240 SP2-125 125 215 53 17 M12 277 260

06 110g6 110h6 109.5 124 5 383 58 3 20 8 115 85 26 60 M10 2 115 110H7 110H7 165 240 SP2-140 140 230 58 17 M12 277 261

07 120g6 120h6 119.5 134 5 453 68 3 20 8 125 90 26 65 M12 2 125 120H7 120H7 195 280 SP2-155 155 263 62 23 M12 347 321

08 130g6 130h6 129.5 145 6 458 73 3 20 8 135 100 26 70 M12 2 135 130H7 130H7 195 285 SP2-165 165 290 68 23 M16 347 320

09 140g6 140h6 139.5 160 6 539 82 4 23 10 150 110 33 80 M12 2 150 140H7 140H7 235 330 SP2-175 175 300 68 28 M16 362 390

10 150g6 150h6 149.5 170 6 559 92 4 23 10 160 120 33 90 M12 2 160 150H7 150H7 235 350 SP2-185 185 330 85 28 M16 399 398

11 165f6 165g6 164.5 185 7 644 112 4 23 10 175 130 33 90 M12 2 175 165H7 165H7 270 400 SP2-220 220 370 103 30 M16 399 455

12 180f6 180g6 179.5 200 7 649 122 4 23 10 190 140 33 100 M16 2 190 180H7 180H7 270 405 SP2-240 240 405 107 30 M20 464 477

13 190f6 190g6 189.5 213 7 789 137 5 23 10 200 150 33 110 M16 2 200 190H7 190 335 480 SP2-260 260 430 119 30 M20 500 505

14 210f6 210g6 209.5 233 8 784 147 5 28 14 220 170 33 130 M16 2 220 210H7 210 335 480 SP2-280 280 460 132 30 M20 525 505

15 230f6 230g6 229.5 253 8 899 157 5 28 14 240 180 39 140 M16 2 240 230H7 230 380 550 SP2-300 300 485 140 35 M20 575 575

16 240f6 240g6 239.5 263 8 899 157 5 28 14 250 190 39 150 M20 2 250 240H7 240 380 550 SP2-320 320 520 140 35 M20 595 575

17 250f6 250g6 249.5 278 8 982 177 5 30 14 265 200 39 150 M20 2 265 250H7 250 415 600 SP2-340 340 570 155 35 M20 615 630

18 280f6 280g6 279.5 306 9 982 177 5 30 14 290 210 39 160 M20 2 290 280H7 280 415 600 SP2-360 360 590 162 35 M24 635 625

X=Space required for torque wrench

End plate

G2

g

H

W

X

L1 L1

f1

m

s

C2
 0

-0.2

G4

c1

30°

s1

L

1.6

1.6

d2 d3 d4 d5 f1 L L1 r c1 c2 d7 d8 D9 m s D2 D3 G2 G4 d d1 H W s1 D g

04 85g6 85h6 84.5 95 4 326 48 2 17 7 90 70 22 50 M8 2 90 85H7 85H7 140 205 SP2-110 110 185 49 15 M12 232 233

05 100g6 100h6 99.5 114 5 383 53 2 20 8 105 80 26 55 M10 2 105 100H7 100H7 165 240 SP2-125 125 215 53 17 M12 277 260

06 110g6 110h6 109.5 124 5 383 58 3 20 8 115 85 26 60 M10 2 115 110H7 110H7 165 240 SP2-140 140 230 58 17 M12 277 261

07 120g6 120h6 119.5 134 5 453 68 3 20 8 125 90 26 65 M12 2 125 120H7 120H7 195 280 SP2-155 155 263 62 23 M12 347 321

08 130g6 130h6 129.5 145 6 458 73 3 20 8 135 100 26 70 M12 2 135 130H7 130H7 195 285 SP2-165 165 290 68 23 M16 347 320

09 140g6 140h6 139.5 160 6 539 82 4 23 10 150 110 33 80 M12 2 150 140H7 140H7 235 330 SP2-175 175 300 68 28 M16 362 390

10 150g6 150h6 149.5 170 6 559 92 4 23 10 160 120 33 90 M12 2 160 150H7 150H7 235 350 SP2-185 185 330 85 28 M16 399 398

11 165f6 165g6 164.5 185 7 644 112 4 23 10 175 130 33 90 M12 2 175 165H7 165H7 270 400 SP2-220 220 370 103 30 M16 399 455

12 180f6 180g6 179.5 200 7 649 122 4 23 10 190 140 33 100 M16 2 190 180H7 180H7 270 405 SP2-240 240 405 107 30 M20 464 477

13 190f6 190g6 189.5 213 7 789 137 5 23 10 200 150 33 110 M16 2 200 190H7 190 335 480 SP2-260 260 430 119 30 M20 500 505

14 210f6 210g6 209.5 233 8 784 147 5 28 14 220 170 33 130 M16 2 220 210H7 210 335 480 SP2-280 280 460 132 30 M20 525 505

15 230f6 230g6 229.5 253 8 899 157 5 28 14 240 180 39 140 M16 2 240 230H7 230 380 550 SP2-300 300 485 140 35 M20 575 575

16 240f6 240g6 239.5 263 8 899 157 5 28 14 250 190 39 150 M20 2 250 240H7 240 380 550 SP2-320 320 520 140 35 M20 595 575

17 250f6 250g6 249.5 278 8 982 177 5 30 14 265 200 39 150 M20 2 265 250H7 250 415 600 SP2-340 340 570 155 35 M20 615 630

18 280f6 280g6 279.5 306 9 982 177 5 30 14 290 210 39 160 M20 2 290 280H7 280 415 600 SP2-360 360 590 162 35 M24 635 625

End plate Circlip

Protec�on
cover

Output
sha�

Driven equipment sha� shrink disc for connec�on. 
Driven machine sha� must be free of oil or grease.

End plate
Size

Driven equipment sha�
Circlip

Hollow sha� Shrink disc Bolt

 Type

Prcotoevec�or n

Number

Note: 1.Material of driven equipment sha�: 40cr or steel with higher strength.
2.Driven equipment sha� is not in scope of supply, please order if required.
3.Shrink disc, protec�on cover, end plate and circlip are supplied with gearbox as standard.



34/BE

BE

d 
+t2

b

       6

       8

     10

     12

     14

     16

     18

     20

     22

     25

     28

     32

     36

     40

     45

     50

     56

     63

     70

     80

     90

     100

     110

     120

       3

       4

     5

h

      6

      7

      8

      8

      9

    10

    11

    12

    14

    14

    16

    18

    20 

    22

    25

    28

    32

    32

    36

    40

    45

    50

    56

    63

      3

      4

      5

t1

             3.5

             4

             5

             5

             5.5

             6

             7

             7.5

             9

             9

           10

           11

           12

           13

           15

           17

           20

           20

           22

           25

           28

           31

           34.3

           39

             1.8

             2.5

             3

d + t 2

d + 2.8

d + 3.3

d + 3.3

d + 3.3

d + 3.8

d + 4.3

d + 4.4

d + 4.9

d + 5.4

d + 5.4

d + 6.4

d + 7.4

d + 8.4

d + 9.4

d +10.4

d +11.4

d +12.4

d +12.4

d +14.4

d +15.4

d +17.4

d +19.5

d +22.2

d +24.5

d + 1.4

d + 1.8

d + 2.3

d

     17

     22

     30

     22

     30

     38

     38

     44

     50

     44

     50

     58

     58

     65

     75

     65

     75

     85

     85

     95

     95

   110

   130

   130

   150

   170

   150

   170

   200

   200

   230

   260

   230

   260

   290

   290

   330

   380

   330

   380

   440

   110

   440    500

   500    560

560    640

     8

     10

     12

     10

     12

     17

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

<d≤

t1

b

h

dφ

11  Dimension of parallel key and keyway



35/BE

BE

12  Screw hole in sha� end
12.1  Type C screw central hole in sha� end

d

10＜d≤13

7＜d≤10

13＜d≤16

16＜d≤21

21＜d≤24

38＜d≤50

24＜d≤30

30＜d≤38

130＜d≤225

85＜d≤130

50＜d≤85

16.3

19.8

25.3

31.3

48

38

D2

5.8

7.4

10.5

13.2

8.8

25

31

21

17

13

10.5

5.3

8.4

6.4

4.3

3.2

D1

1.8

8

11

6.4

5.2

4.4

3.8

2.4

3.3

2.8

2.1

l1

18

18

15

12

9.5

7.5

4

6

5

3.2

l2

2.6

35

45

25

30

15

20

10

12

12

10

10

 L

M30

M24

M20

M16

M12

M10

M8

M6

M3

M5

M4

M

60°

120°D
1

D
2

l1

l2

Md

L

φ

13  Lubrica�on specifica�on

Note:

The gearbox has been tested before delivered, users should add lubrica�on oil before running. If not specified, the gearbox is shipped
without oil. The actual oil value should be done as the oil glass level. Lubrica�on viscosity (heavy industrial gear oil) [VG320 and VG460]

1. The gearbox is lubricated by oil. Product series P and K oil  paths are blocked by oil seal, need to be refueled separately.
2.Above table viscosity is only for the temperature under 40°C.
3.Ambient temperature below -10°C must use synthe�c oil.
4. To make sure the long using life, we suggest to use synthe� c oil.
5. If the ambient temperature is not in the range of the table, please consult TGE.

-20°C – +40°CAmbien�emperature °C +30°C – +50°C

Viscosity VG320 VG460



36/BE



· The structure scheme,appearance diagram and other a�ached diagrams in sample are

      examples,there is no strict propor�on requirement.(The unmarked dimension units are mm). 

· The marked weight is average value,it has no constraint force.

· To prevent accidents,all the rota�on parts are added with protec�ve covers according to

the safety regula�ons of the na�on and region.

· Before debugging,you should carefully read instruc�on book.

· Gearbox is on running-permission status when delivered,you should add lubrica�on oil

before pu�ng it into running.

· The marked oil quan�ty in sample is only reference value,actual oil filling quan�ty should

be the same with the mark on oil immersion lens.

· Lubrica�on oil viscosity should be selected according to working situa�on and applica�on

environment temperature of gearmotor. 

· You can only apply lubrica�on oil of interna�onlly famous brand.

You must conform to the following instruc�ons:!

Note:

37/BE



TGE Transmission s.r.o.
9. května 209,
268 01 Hořovice

Technical office Plzeň
Teslova 7b
301 00 Plzeň
info@tge.cz | www.tge.cz

Local dealer




